# Max Mekhanikov - Homework 2

# Question 1
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a =proc(n) option remember :
if n =0 then
0:
elifn =1 then
1:
elif » =2 then
8:
elif» =3 then
27
else
4-a(n—1)—6-a(n—2)+4-a(n—3) —a(n—4);
fi:
end:

seq(a(i),i=1..8);

> 13; 23; 33; 43; 53; 63; 73; 83;

:> # Question 2 — Work by hand attached below
>

> dsolve[ (D(y) (1)

»¥(0) =1],y(t));

1, 8,27, 64, 125, 216, 343, 512

> # After analyzing the results for the first eight terms of the sequence, it becomes clear that the explicit
formula in terms of n is n”3. We can prove this by manually computing 1<n<8 and obtaining the same results.
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Duwestion 3

=2 ' =3
Y- 3 2g) =0, 4100= 2,01
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